Grand Test — SPP 180542

SBI PO Preliminary Grand Test —SPP-180542
HINTS & SOLUTIONS

No error

Use ‘are’ in place of ‘@’ because subject is in plural form
"to everyone concerned"

No error

"acceptable to" should replace “acceptable by”; ™
Acceptable" is always followed by 'to'

Use ‘To curb’ in place of ‘To curbing” because when “to”
is used as INFINITIVE PARTICLE then srst-form of Verb is
used.

Use ‘have’ in place of ‘has’ because ‘diesel cars’ is plural
"best" should replace "well"

"attractive" should replace "attracted"

No error
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Total student = x

Total marks = 50x

Changed marks =50x — [100 x (90 — 60)]
50x —3000

X

Therefore new average = 45

= 5x=3000 = x = 600.

After3hours D e

After 6 hours D

70km !
Since distance covered in 3 hours = 70 km

Therefore total distance =70 x 3 =210 km.
Let xand y'be speed of man and current respectively.
12

X+ty

= 4 or x =2y

X-y

Also, " + 4 =20
X+y X—-y

Or,E+£:20 (ex =2y)
Yy

Or,y=3km/hr.

1 1 1
B perday work= ———=
P 4 12 20 30

B halfday work = L x-— =
230 60

(A1 day + B half day) work

1 1 1
= =

2077607 15
Work-will be completed in 15 days.
Qut'curvedsurface area =2 x 7t x (3 + 1) x 10 =80 7 cm”?

Casel

S:8 kmph

A:13 kmph
After 4 hrs,

Archnahas lead of

13 X4 —-8xX4=20km

Casell

S:16 kmph

A:12 kmph

Hence, After 4 hrs,

Time taken by Shruti to bridge the lead of

Archana=—>— = 5hrs

16-12
Entire Journey last for 4 +5 =9 hrs.
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47.(3) Milk in A Milk in B =>x=-3,-6

2 Il y>—13y+40=0

5

~ 1.7 =y -8y -5y+40=0
2
r el \é =y (y-8)-5(y-8)=0

=>(y-5y-8)=0
=y=58
LX<y

Pl : 14 8
\112/ I Vx+6=+121-+/36
P2 : ]6/ N7 SJx+6=11-6=5

Time for (P1 + P2) to fill=l%;hrs —=x+6=25=>x=19

s 5 112 2
Due to leak, new time to fill = et 8 hrs. 1. y2 =361=y==+19
Now, LX2y

: 14

=4:5
They mustbe taken in4: 5

P2 : 16 Average population of B

P1+P2-L : 8 ‘ _20+30+35+45+45+50_2275_375
= == =37

L=1unit e 6

% Time taken by Leak to empty a cistern —3 = 112 hrs o %ise = 40-30 %100 < @ _ 331%
Amount to be paid initially =20000[1 + 22| = 26620 30 30 3

Total population of A=15 +25 +30 +30 +40 +45= 185
Total population of B =225

Ratio =185 :225=37:45

8

17

After sudden change in last year's rate
New amount to be paid = 20000[1 + ﬁ] [1+2]=27830
Extraamount=27830-26620=Rs.1210
Cost of plastering = (2 X % X ; X 22.5) X 3 = Rs. 1485 Req.%= %x 100=16
1.225x’-4=0
= (15x)* -(2)* =0
= (15x+2)(15x-2)=0
2 2

15”15

Il 225y +2=0

=y=

%

15

Person Colour
Chanda.Kochhar Sky Blue
Arundhati Bhattacharya Yellow
Shikha Sharma Blue
Nita Ambani Purple
Naina Lal Kidwai Red
Usha Ananthasubramanian| Green

Vijayalakshmi lyer Pink

I.9x—15.45 =54.55 +4x
=5x=70=>x=14

Iy +155 =36 =~/49
=,Jy+155-6=7
=.Jy+155=13
=y=169-155=14
LX=Yy

l. x2+9x+18=0

= x> +6x+3x+18=0
=x(x+6)+3(x+6)=0
=>x+3)(x+6)=0
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81-83. (==s(+) P(+)

Corner

(NH =——aA(+) = E() E

B—G(9)

100..(5)

Number of rooms is' not found from ~both. the
statements.

Both the statements do not tell about colour of curtains
on the stage.

From either of the statements we can $Ind. the answer

of question.

In 2nd statement, it is mentioned that. men become
slaves of habits so we can say that habit’s'make men’s
life rigid.

Both the statement do not describe about child ability to
learn.

Days Friends Entry Fees
Monday D 600
Tuesday 400

Wednesday 1200
Thrusday 1800
Friday 2700
Saturday 1500
Sunday 900




